Lesson 73- Trig Identities.notebook

Lesson 73 Objective: SWBAT use trigonometry identities
to verify equations.

Kickoff

Complete your participation rubric and put it on my
desk!

Complete questions 31-36 in your homework packet!!

Quotient Identities:

S\nH

‘Reciprocal Identities
[}

CscO= S', ne Tan 6 = Fege
L o5
Sec© = COSS CotO = &g
\
Coto=_"T é‘(\%

S

All the above identities can be 0 S'zd TD S{ {\\p\\&\\{\) 2*@ ((%IE

March 02, 2018

31) sin¥s= 32)
Ceflo L\% Sm‘{‘j;\%
L T tRGE ae
L 57'{ ?}(’r%
) mn@O ) cos? \3 _\[5\

P

35) tan 7%= ’I 36) co@ )

oM
:\9{ H 19
. S\r\ 4 \L\
Lov
S0 (oO
@ {m\%' T
R
’}WLQ\'\\
™

1) (cscB)(sind)
v .
Gl )
k

3) 2SecH + tand

Q(“@Jr %

N\
CQS@ AT

AT =i
coOSe

Examples: Simplify each expression using the identities above.
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Pythagorean Identities:
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There are two more identities that we can derive from Cos?6+ Sin?8 = 1
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|Before we Begin

|[Factoring with Trig Functions:
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Finding Common Denominators:
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Simplifv the following:
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tive: SWBAT verify trig functions.
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Rewrite using Sin and Cos
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Verifying Trig Equations:

ou are only allowed to simplify ONE side of the equal sign to get it to I

Different Methods to Simplify:

1) Rewrite the more complicated side using Sin and Cos
2) Factor

3) Break up a single fraction into two

4) Common Denominator

5) Using the Conjugate
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Break up a single fraction into two
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Using the Conjugate of the denominator Using the Conjugate of the numerator
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